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Wﬁaﬂt e General Instructions : ‘

Read the following instructions very carefully and strictly follow them :

frefefea P =) wga sreur 2 uive stk s g & wed HIT

(1)  This Question paper contains 38 questions. All questions are compulsory.

(1) STIT-y7 R PT 38 T57 & | GHF w57 A E | (i) Question paper is divided into FIVE Sections — Section A, B, C, D and E.

(it) & J¥7-97 Yie @vsl § fawifaa 8 - @ve-®, &, 7, 77 & ; (itt) In Section A — Question Number 1 to 18 are Multiple Choice Questions
(MCQs) type and Question Number 19 & 20 are Assertion-Reason based

e i S

(ti) TvE- & 5 397 7T 1 @ 18 % qgHAT 79 T TE 19 g 20 ST e

questions of 1 mark each.

- ——

TR 1 3% & 797 § | (iv) In Section B - Question Number 21 to 25 are Very Short Answer (VSA)
yH FIAE

type questions, carrying 2 marks each.

(v) - @3 yeaw 21 @25 7% A TG-307 (VSA) T F2
(v) In Section C — Question Number 26 to 31 are Short Answer (SA) type

L &UE— 7 i . ¢ >3 W%W?/
(v) 7 I GG 26 § 31 7% Tg-I719 (SA) TFR questions, carrying 8 marks each.

(Vi) TUE- §F gy g 32 335 a5 -39 (LA) F#RF 5 57 & T E | (vi) In Section D — Question Number 32 to 35 are Long Answer (LA) type

” : . : questions, carrying § marks each.
(vii) TS - &7 w7 w5 36 8 38 F Sy ST I FIAE |

ey, D . . T AT T T T ——e D GG A Y —— —— g

(vii) In Section E — Question Number 36 to 38 are case study based questions,

' ¥ GE-TF3IT
(viii) W—W#WWWWW?/WQ aus = @’%‘2,7?:7?‘}; o [ carrying 4 marks each.
g @Us- g% 2 Yy B g @ue-g F 2 I A 377 [dFcd &1 bl fear TaTE | (viii) There is no overall choice. However, an internal choice has been provided
(ix) E in 2 questions in Section — B, 8 questions in Section — C, 2 questions in
X é@;ﬁz( J7T i
e &1 | Section — D and 2 questions in Section — E.

(ix) Use of calculator is NOT allowed.
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= SECTION - A
| (20 x 1 =20)
FE@IE H 20 E@WH 9 2 | T W &I 1 3 2 ) (This section comprises of 20 multiple choice questions (MCQs) of 1 mark each.)
| (20 % 1 = 20)
— -) . . e ¢ m ? ‘ Ry
1. 3fe p YT q 9T Qlew 8, @ &= AHAI D ' q -‘mmqﬁ—@ 1. If’f)’ and a are unit vectors, then which of the following values of p - ¢ is
1 ible ?
(A) _—_—_}_ (B) _\/____ not possible :
; 2 » = ®)
- B S =
© = D) V3 ;
2 ? (C) _\_/é—é D) 3

0. Pl AP amegg vl o fyww-wwfi G B & 7

9 Which of the following can be both a symmetric and skew-symmetric

B ﬁ'a;uf 3:[1'6{5’ matrix ? :
(A) TcHHAS AR (B) Py (A) Unit Matrix (B) Diagonal Matrix
C) I3 A= &) (G) Null Matrix (D) Row Matrix

a a
a
3. Uﬁjxdxsg+6%,’<ﬁ 3. Iffxdxs-g+6,then
0 0

(A) -4<as<3 B) a2 A) -4<as<3 By ax4,as-2
(C) -3<as<4 @); 2543 (C) -8<as4 (D) -3<ac<0
/ L 3 :
4. QA TUT B HHM HIfE % 1 AT g, W (AB"-BA) T 3 4. If A and B are square matrices of same order, then (ABT — BAT) is a
(A) =HHd TR 2 (B) o @ 'l ! (A) symmetric matrix (B) skew-symmetric matrix
(C) I 3T=gE 2 (D) dcaAsh ATHE g (C) null matrix (D) unit matrix

B i ana (g + cot™ (= \/'3—)) FIAAE : 5. The value of cos (%+cot"l(—\/§5] 1S

-3 -3
(A) -1 B) —— , (A) -1 (B) —-2-‘/:
(C) © D) 1 €) 0 ® 1
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6. IR p AU q FUM: NaHA T 1‘1 L‘:‘j _o R AR e @ &, @@ -9
ax \ AXx
HTHH 2
C) 2 (D) 3

1, Wf(x)=x2—4x+6mmﬁam%,a_&'%i

A) (O, 2) (B) (—, 2]
€) 11, 2] D) [2, )

- ?
8. Wix= 1+93u,y=-5+, z=_6_3p,ﬁmﬁﬂmﬁ§ﬂmw‘%

A) (1,-5,6) B) (1,5,6)
(C) (1’ —57 —6) (D) (—1, ""59 6)

9. aaﬁy=x2,Ostzamy-ammmhmmﬁﬁéawéW%=

65/2/3 Page 6 of 24
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6. If p and q are respectively the order and degree of the differential equation

J
_cl_(fi_}.’.) =0, then (p - q) is

dx \ dx
A) O B 1
(C) 2 (D) 3

7 The function f(x) = x% — 4x + 6 is increasing in the interval
A) (0, 2) (B) (-, 2]
(€):[1, 2] (D) [2, »)

8 Thelinex=1+5b8u,y=-56+u,z=-6-3u passes through which of the

- OTTY e YT T e

following point ?
A) (1,-5,6) B) (1, 5, 6)
© @,-5,-6) (D) (-1, -5, 6)

T ) T R —— PN

9. The area of the shaded region (figure) represented by the curves
y = x2, 0 < x < 2 and y-axis is given by

———. - —— N I e N e o

2 2
| o [2« ® | J5ay
| 0 0
4 4
© [s?ax ® | ¥y
0 0
65/2/3 Page 7 of 24 P.T.O.

N W L I —— T . g — —. . g W, T ™ gt T A gy

| 4




R o B O

/) w1 ¢

-

-

« 0w P(F P 1 i
10. 3R E 7o F 2 Wt oA & % P(E) > 0 71 P(F) # 1 4 . 10. IfE and F are two events such that P(E) > 0 and P(F) # 1, then P(E/F) is
(A) P(E) (B) 1- P(E/F) P(E) (B) 1- P(E/F)
P(F) A o=
(F _ P(F)
(C) 1-P(E/F) D) — PE D) | 1) Romt A L),
i P(F) | (€) 1-P(E/F) P(F)
11. T Igfess s X & SRRt s AR A R : & 11. The probability distribution of a random variable X is given by :
X | Bl L il | :_22 i i 5 | 0 t = %3 4 | 9 o 0
PX) | O01 | 02 | 03 | 0.2 0.2 | P(X) 0.1 0.2 0.3 0.2 0.2

s H EX) R : Then E(X) of distribution is
-1

(A) -1.8 B -1 , (4) -1.8 (B) .

C) 1 (D) 1.8 ' C) 1 (1))l

12, ufé‘a:aﬁ+3°+412$r5’=2§+63°+3ﬁmu@q4ﬁr§%ﬁamm%’ B 12, prrojectionofﬁ):a/i\+3\+4k0nb=2i+6j+3ﬁi84umts’ then a 1s
(&) -13 B) -5 (A) -13 o '5'5
(C) 13 (D) 5 (C) 13 (D)
AT : : ‘ | he vector 31 + 3\ + 2k and passiﬁg
- afew 31 %m,}@wmﬂmm% 13. The equation of a line parallel to t
bk ﬁg (4,-3,7) | EIR S 1l 7 i e 2k through the point (4, =3, 7) 1s :

(A) x=4t+3,y=-3t+1,z=Tt+2

(A) x=4t+3,y=-3t+1,z=Tt+ 2

(B) x=3t+4,y=t+3,z=2t+7 (B) x=83t+4,y=t+8,2=2t+ 7
(C) x=3t+4,y=t—-3,2=2t+7 (@) x=3t+4,y=t—-3,2=2t+7
D) x=8t+4,y=—t+3,z=2t+7 M) x=3t+4,y=—t+38,z=2t+7
| 3n ¥ o7 AT 8,
Phaald Ml (. . :
14. 3fE T @ x, y TUT 2-3& 1 GATHD fesm 9 13 ~ 14. If a ine makes angles of -?)f-,—g-and 0 with the positive directions of x, y
OFHTHHZ : and z-axis respectively, then 0 is
- m z

@) Fwm T (B) Fa - (A) -gf-only (B) -g-only

g T T n

3 +— 0) — t—
(C) : D) *3 (©) . (D) 3
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15. A factory pr()dllCOS two products X and Y. The profit earned by selling X

3t = 3 2 9 w1 e T A 7o B % Wl 9y I iR ?

iy 't
o (@ N

If A denotes the set of continuous functions and B denotes set of
differentiable functions, then which of the following depicts the correct

relation between set Aand B?

d) | m ﬁ m . l ) ' s ¢ ¢ ’ -
e - ¢ , Y qUl Yé;ﬁﬂiﬁa alﬁ and Y is ,-eprescnted yy the objective function Z = Hx + 7y, where x and -
7 = bx + 7y g1 fAEhg @, 9@, x, y A Jeqrg A nber of units of X and Y respectively sold W "r»‘ s
ﬁmﬁéeﬁ:{ %,) are the nuil . y sold. Which of the
2 QT HYT IR | Wm% | following st.atement 18 co.rrcct 7 - |
(A) T HEH, mxam\'ﬁmma; AT &l | (A) The objective function maximizes the difference of the profit earned
(B) WW’XWYQ;W%WWE?IW% | from pI'OdU.CtSXﬂn(.i h @
(C) R G waﬁﬁawm%mmmﬁww'% | | (B) The objective function measures the total production of products ¥
' yfires &ATC | ' and Y. | i
(D) WW%WW%%WWXWYQ | (C) The objective function maximizes the combined profit earned from
ing X and Y.
: : Al & dI=A &l E‘ﬂh" %, f — iecti functi sures the m d
16. i A, 9ad Fodl & =T &) il & a1 B, CECIREIR | (D) The objective func 1onY en company produces more of
}f product X than product Y.
l!

17. SR Sl 37wg, ST, ST Y1 99 H 4 AB + 3(AB + BA) — 4 BA % HTEHT a%nl% (©) 4‘»
fore a1 T, Sl A 991 B 1 WIfE 2 X Z*Wﬁw"gm%ﬁ;AiBﬂ
A1xB ;
_ Four friends Abhay, Bina. Chh dD h k impli
S iy W 17 : aya and Devesh were asked to simplify
& 4 AB + 3(AB + BA) — 4 BA, where A and B are both matrices of order 2 x 2.
AT 6 AB It is known that A # B[ and A-! = B.
e . 7 AB— BA Their answers are given as :
et . 8 AR Abhay : 6 AB
| Bina : 7AB-BA
@ :7BA-AB Chhaya: 8 AB
forasT I T B 2 Devesh : 7 BA - AB
(A) 39F (B) _ Who answered it correctly ?
(C) BT (D) <o (4) Abhay @B) Bina
et (C) Chhaya (D) Devesh
. fr=
18. wﬁAmBaﬁwaﬁ%m%aﬁmiWA2_32=(A_B)(A+B)%,-& |
2 T T T R ' 18. glA anc}ll .Bhal’e square mgtncgs of order m such that A2 - B2= (A - B) (A + B),
en which of the following is always correct ?
(A) A=B (B) AB=BA (&) A=B (B) AB=BA
(C) A=0TmB=0 D) A=1aB=1 * (C) A=0orB=0 D) A=IorB=1
65/2/3 Page 10 of 24 pes o o0 AgRegedioty iy 5 RO,
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fréw : = w@n 193:\1203:&%(;\)3ﬁta$(11)3nmﬂﬁwi

il v ) S (A) 7o g B ah (R) T A
R R s A), (B), (C) 3 (D) # & FFHR AT |

fpr T &

(A) éﬁ.mﬁwq(f\)ama%(maﬁﬁ|a%(R),arﬁW(A)ﬁa€fWW

g\
(B) o1, iy (A) quT T (R)aﬁi,ﬂﬂ*(R),W(A)ﬁmm

(C) wfrwe (A) T R, wog 7 (R) Ta € |
D) 3 (A) Teid & Fafeh 7 (R) T2 |

19.

o B o

ASSERTION - REASON BASED QUESTIONS
Direction : Question number 19 and 20 are Assertion (A) and Reason (R)
based questions. Two statements are given, one labelled Assertion (A) and
other labelled Reason (R). Select the correct answer from the options (A),

(B), (C) and (D) as given below :
(A) Both Assertion (A) and Reason (R) are true and the Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C) Assertion (A) is true but Reason (R) 18 false.

(D) Assertion (A) is false but Reason (R) is true.

Every point of the feasible region of a Linear

. , Assertion (A) :
19. IM@YF (A) : T LPP & & & &l W ferg 3EAH A B e | | Programming Problem 1s an optimal solution.
@ (R) . U LPP 1 39 g, GEd & ¥ T A1 3w B forg ™ o Reason (R) : The optimal solution for a Linear Programming Problem
TATe | exists only at one or more corner point(s) of the feasible (#
region
20. HAWHYF (A) A=diag[35Z]ﬁQBX3?=‘STQ$\'ﬂﬁw:*T_&:IET-’EI%_{'g 20. A tion (A) : A=diag[3 5 2]i 1 trix of order 3 X 3
: B FfesT TR . Assertion . A =diag is a scalar matrix of oraer .
& (R) : gﬁm Fegg & wl YRIW T Reason (R) : If a diagonal matrix has all non-zero elements equal, it
4 is known as a scalar matrix.
LCLCERKC | . > =10 | | SECTION - B
(@I | 5 Afd ?T%WHI'@W% | T T & 2 IFE ) (5 x2=10) (This section comprises of 5 Very Short Answer (VSA) type questions of
2 marks each.) (5%x2=10)
24 R ’%ém ='3] —-ax'*'b:Rﬁ %l / : .
a 19 hifere foes foe f(x) = sin x Sl 1\ Find the values of ‘a’ for which f(x) = sin x — ax + b is increasing on R.
22. T4 i : f2x3 ex* dx. 292. Find: f2x3 e* dx.
& d X~y
23. (a) Flex=eY Hifm fs =L = ———. &
x= e’ ¢, afog dx xlogx 23. (a) Ifx=e”, then prove that i}[_ - :
| dx : xlogx
r Y OR
) R ()= {23 35S If f(z) < {263 » -85 #S-2
o e (b) If £(x) =+
k ; = X+l , -2<x50

2. @ x = — 2 T f(x) F FrahEHIA bl AT BT |

Check the differentiability of f(x) at x = — 2.

'.'. 5, L -
1 If |a|=2, |b|=3and a b =4, then evaluate | 3+2§|.
65/2/3 Page 13 of 24
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25. (a) & gfew a dat aren q g™ o FATA g e ‘- 25. (a) A vector a makes equal angles with all the three axes. If the
R 7w R | _ magnitude of the vector 1s 5v/3 units, then find 4.
YAl R | OR
Rufy afew Ha: o T ﬁ g, q T g X y ; (b) If d and —6 are position vectors of two points P and Q respectively
®) WA %gaﬁ PN Q® o 255 QR = 3 QP | then find the position vector of a point R in QP produced such that
SRY T1a DR A QP F TgM T F TP 2 QR=-§QP.
| SECTION - C ‘
gE-T (6% 3=18) | (This section comprises of 6 Short Answer (SA) type questions of 3 marks
@amﬁeagmﬁamﬁlmw%sﬁﬁl) | each.) (6 x 3 =18)
( 1 \¢ 2y, + (x+ 1)2Y1=2' ;' 2
X 2] 2 el fea+ 1)y, | § 2 - g
26. (a) Ty=log \‘/;+ Jx | | 26. (a) Ify=log|V¥+—=, then show that x(x + 1)*y, + (x + 1)* y, = 2.
1 : \ ) OR
dy.: s | |
P Ly, AfgARCF=oe | LBl i
(b) qie xyl+y+yv1l+x=0, 1<x<1,X#Y dc (1+x) b) Ifx /‘1+y+y,/1+x=o,_1<x<l,x;ey,thenprovetha P (1+x)2'
Rl ¥ qhafa g 6 R={(x ¥):
97 UM TN TE3 % T R W T §9Y R Wm i Fafiraan a2 . 27. Let R be a relation on set of real numbers R defined as {(x, y) : x—y + 3
x -y + J§ , Th ST 98 8, x, yeR I} ¥4 R b , is an irrational number, x, ye R} Verify R for reflexivity, symmetry and
: £ 3t ER | f- transitivity.
98. o= e T gHET I ATE gRI & I : SOIVel\fI}.llsiiCiliLoewzirf—_gzl;nf?r programming problem graphically :
Ul 3x + y29 subject to the constraints :
vty = 3x+y=>9
x+2y28 x+y2>T
x,yZOa?aia’fHZ=2x+YWWm| x+2y>8
3 | x,y20
= Z) = =
o & W ‘qm % ﬁ; P( 10 . .
29. (a) Uk 9@l f55g W 18 6 T i EAT 3ifehd 2, 3:@ 2 B 29. (a) A die with number 1 to 6 is biased such that P(2) = -1%- and probability of
YT 37 Wt Gl b AT §HE 2 | e : other numbers is equal. Find the mean of the number of times number 2
a1 9 2 37T B, o1 91eA 714 HIfTT | : appears on the dice, if the dice is thrown twice.
YT : OR
(b) 8 UTEl ! Teh HTY IBTCAT 74T | € g2ATd A 941 B fret T E gt d::‘i h ¢ (b)  Two dice are thrown. Defined are the following two events A and B:
_ . =0} B={( )°x¢3}aﬁ'(x,y)mm T T A={xy):x+y=9}, B={(,y):x# 3}, where (x, y) denote a point 1n
A={(xy):x+y=9, B={xYy): ’ 2 | ] the sample space.

21 29 2 | it Hifdre R a1 geATd A qe B @A ¢ 71 T

Check if events A and B are independent or mutually exclusive.

65/2/3 Page 14 of 24 | 65/2/3 Page 15 of 24 P.T.O.
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E
y = -2 l t . (ly ' Saw ¢
‘ ,ﬁm%ﬁ;‘\(l) R y differential e tion 2(v + 8) = xy —== 0, given y(1) = ~2.
30. (a) avaee ST 2y + 3) — ay _g_:_: 0: m-{aamm ;O(). (a) Solve the differential equation Z(y 7 -
| OR
| (b) Solve the following differential equation :
(b) 1= e arftetn &) ga FIRT :
v 1+ 4 oy = 422, %
(1 +x%)—=+ 2xy = 4x*. dx ¢ /ot
d.\' 4
f'//'.// /
‘ : ‘ b b
| 2
3 dx = 2dx= 2 f d b.
31. aﬁfxsdx:oamfx2dx=g%,aﬁaaznba‘;m?mﬁml 31. Ifjx dx Oandfx dx 3,thenﬁndthevalueso a an
» . 3 a a
SECTION -D
@gis - ¥ :
. | , (4 x 5 = 20) (This section comprises of 4 Long Answer (LA) type questions of 5 marks
AT 4 IHARI TAE | TAF TAH 5 IH T 1) oach)) (4 % 5 = 20)
32. (a) FEERiFdEH HIT . .
(a) EREL LRI 39. (a) Find the shortest distance between the lines :
x+1=Z:l=Z—9W x+1=y—1=z—9 and
2 -3 2 1 o
x;3=y+15____z—9. x—3=y+15_z—9
e Qi BTRaVR.
OR
b) fEgAQ 1,2 R @ l:T=4i+2j+2k+A(1-]—k H wfafed A’ 3 (b) Find the image A’ of the point A(2, 1, 2) in the line
: a4 I A A A ASIEAL BN : :
AT | @1 AA” F1 wfion ot T i den A 8 @1 LR S :T=41+ 2]+ 2k+ 2 (= -k). Also, find the equation of line
SERICRICEIE 1l ‘ joining AA’. Find the foot of perpendicular from point A on the line L.
o . | f ( WRg + COtx) dx. 33. Find : f (\/tanx +Jcotx) dx.
¢ P f 24 P.T.O.
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g&&ﬁ 3 it & W 1 Q%Q

. __oax="2
34. WER ¥ YA A, Yaly = by + 2, x - 4 AT x =2
\(}4\, Using integration, find the area of the region bounded by the line

SERTC
T AT | y = bx + 2, the x - axis and the ordinates x = -2 and x = 2.
P el B §a g, 3. , -4 4 4 Pl o
35. (a) R A=|/-7 1 g |amB=|1 - -2, A | 35. (a) Given A=|-7 1 8 and B=I[1 -2 -2|, find AB. Hence, solve
5 -8 -1 gy e 5 -8 -1 2 1 3
RUCE R DE Ty 9y the system of linear equations : = Z/ < Z
X—-y+z=4(4 x—-y+z=4 s
X=-2y—-2z=9 x—2y—22=9 d)’ “/ S
. i . g A
2'x+y+32=1ﬁmm' 2x+y+3z=1 il ()d/)r@ //f’*
YT OR &) \
12540 ) 14w 72 J% 10 g7l “ 2//
b) FWA=|-2 -1 -2[3 MA@ HRT ®) IfA=|-2 -1 -2  then find AL =22/ s =
A O _1 1 O —1 1 i ./> s S G 2 2 -
k * - < oo »
31a: = e gftetor e 1 g0 Fifve Hence, solve the system of linear equations : —i' ¥ T g_% *zﬂ
x—2y=10 x—2y =10 ;
2x—-y—-2=8 2x-y—2=8 7 s
=2y +z=17 (272/\,/2} oy T2 = == |
qUE - F T el ek E-“_‘_-Co-%s
. = s s SECTION - E g S
—— . 3 x4=12 . J
(FEEUS T 3 Y0l UTRAITA 8 | TAF T H 4 3H ¢ |) ( ) (This section cOmpIISES ofl8case study based questions of 4 marks each.)

36. @mﬁm-mmmmmmw%ﬁﬁm*“ﬁ
S=18,, 8, S, S,) 7o g favka o 5 g 1 J = 0, dy Iy FEAAMARE
STET ST T % forq wh e fwife fpan 1w 2 | A R T HEH
WWW&H%;R:{@ y) :mx%mmyﬁu‘?&aﬁsﬂr%x cS,yed}

EPTSS—
et A :‘ 4T ('l_"_:;’;vﬂ'l”"-“

e e L R S

65/2/3
. Page 18 of 24
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< = — ) S (A
36. A school is organizing a debate competition with participants as speakers 5
S = {S,, S, S3, Sy} and these are judged by judges J = {J,, J,, J3}. Each 7:( - /?\
speaker can be assigned one judge. Let R be a relation from set S to J K &é‘
defined as R = {(x, y) : speaker x is judged by judge y, x € S, y € J}. ’(V)‘ ‘)
7~




o * T E
‘ Based on the above, answer the following

U 5 HTUR R Py wedt & e T
(i) S®Jas gy g R ? 3 R
(i) T Ry S & J e o 0w e aﬁmﬁzwﬂwm\

| : ety S J.
(1) How many relations can he there from Stod

. 4 M ' . 1 _ V s ’ ' p | /‘: y 5
(ii) A student identifies a function trom S to J as £ = {(8,, J,), 8y Iy,

(Sa, J9), (S, J4)} Check it 1t ig bijective.

£= (S, J)), Sy Jy), Sy I G I .
] Wmmm% ? | (iii) (a) How many one-one functions can be there from set S to set J ? 2
() (a) Wsaw,lﬁw%ﬁﬁﬁw OR

(111) (b) Another student considers a relation R, = {(SI, S,), {Sz, S,y in

"e e gau : |
(i) (b) T =y fymmef I gg=g S § @ a5 A W - T i <ot S. Write minimum ordered pairs to be included in K, 80 that
TRYTRE s | wmﬁﬂg’“lglm: :
. - R, 1s reflexive but not symmetric. 2
ST g Fafiy 18 | \
a2t W oy ° : ing cars
- = - . o Ferdl g ae e 7. Three persons viz. Amber, Bonzi and Comet are manufacturing
P e, Wmﬁ;ﬂﬂﬂ@%aﬁw o 3 | T T IAC B 200, | which run on petrol and on battery as well. Their production share 1n 'fhe
2 | O § I IauTe T T s 60%, 30% a4l 10% % S market is 60%, 30% and 10% respectively. Of their respectiye production
10% T 5% HHT: TAfdeh (3;21-}5-32(}“3@%3@) FRE | S;I;?:izis)s, 20%, 10% and 5% cars respectively are electric (or battery
I & YR R A= T} & I ST Based on the above, answer the following : i _}_‘f
; = dh {oen
t e -5'5'3 \ S Z_, o @‘1/
\V 0 é DZ S o ( £ o

€ (1) (a) What is the probability that a randomly selected car is an

(1) f 22 electric car ? 24—»—5
OR
: ,f (i) (b) What is the probability that a randomly selected car 1s a petrol
@  (b) ngﬁswgﬁmﬁw@a@a@a’ﬁWW%? | A 2
(1) Iy FTZ 0 (ii) A car is selected at random and is found to be electric. What is the
T TR R g rd | o s AL ALRLE | probability that it was manufactured by Comet ? | 1
(1) AT T+ 1T S seifarres qrd ard | @y wifdrewan & foh I8 3TFA W@F?vﬁmm (iii) A car is selected at random and is found to be electric. What 18 the A
TR } probability that it was manufactured by Amber or Bonzi ? Vi a1
65/2/3 l ,' \ o g X --’i‘ ¢
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f(x) = e* sin x GRY Wiger fpar 1 T &, el x

IR & HTUR R 737 & I T
() &I maﬂﬁnaﬁf(x)a%fmmgmﬁ%’ ze D

) TR x e [0, wek R REEA T
7 gRad= fag 2 |

ﬂ]o )
T =T 3

38.

65/2/3

ght installation.

ght at any point

f(x) = e* sin X,

A small town is analyzing the pattern of a new street li
The lights are set up in such a way that the intensity of i
x metres from the start of the street can be modelled by

where x 1s 1n metres.

Based on the above, answer the following :

(i) Find the intervals on which the f(x) is increasing Or decreasing,

x € [0, «].

(i) Verify, whether each critical point when x € [0, 7] 1s a point of local

maximum or local minimum or a point of inflexion.

/

Page 23 of 24






